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My goals for this write-up include becoming comfortable with and exploring the possibilities of the software Algebra Xpresser, and learning how to copy, paste, and manipulate graphs and equations from Algebra Xpresser into a Microsoft Word document.





I have chosen to explore problem #5 from Assignment 1 for this write-up.  I will examine the function f(x)=asin(bx+c) for various values of a, b, and c.








Let’s start looking when f(x)=asin(bx+c) with a and b constant, say 1, allowing c to vary.


The graph looked as such: 
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This graph shows the sine graph with an amplitude of 1 and the period 1 radian, shifting to x-axia according to c= -1, 0, 1.  Since the value of b=1, it does not affect the period. The value of c is that of the phase shift for the entire graph.  By leaving the value for c = 0 then the sine graph will essentially begin at zero.





Let’s change the period (or value of b).
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The graph will show more “waves” or will appear to repeat itself more often if the value of |b| is increased.








Let’s change theamplitude (or value of a).


�





The amplitude (or value for a) will increase in vertical height if the value of |a| is increased.











To summarize the values of each of these variables and the effect that each have on the sine graph, the following predictions can be made:


	The equation y= 3sin(2x-3) is the graph that is amplified 7times of the height, increased 3 times of the period, and shifted 3/2 to the x-axis of y= sin(x).  In fact, y= 3sin(2x-3) = 3sin(2(x-3/2)).  Let’s check this.
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In conclusion, the values of a, b, and c that were manipulated effect the amplitude, the period, and the shift to the x-axis of the graph, respectively.  


									-The End-








